COMPETITION LEVEL 1/10, 2 WHEEL DRIVE
NITRO STADIUM TRUCK CONVERSION
FITS: TLR 22-T 4.0

Thank you for choosing to purchase Ignite Design RC products. As a very small company that op-
erates from our garage, it is exciting to be a part of the RC racing community and specifically the re-
introduction of one of our favorite racing classes, 2wd nitro stadium truck. See you at the races!!

You can find or follow us at the following;:
www.ignitedesignrc.com
www.facebook.com/Ignite-design-rc

www.youtube.com/c/Ignitedesignrc

Parts and equipment needed to complete:
TLR 22-T 4.0 kit
2 channel surface radio with 2 servos
Receiver battery with dimensions no more than 85mm x 30mm x 16.5mm
Engine collet, Associated #81371
.12 nitro engine (SG crank, slide carburetor recommended)

Complete exhaust, https://ignitedesignrc.com/products/12-tuned-pipe-set




1G029 Rear Battery Mount

M4x6mm
Set Screw

1G030 Front Battery Mount

4X M3x6mm FHCS

STEP 2

Use 2x OE TLR Kit Screws

1G014 Servo Mount

2x 3x12mm BHCS

1G013 Carbon Fiber Battery Plate

COMPETITION LEVEL 1/10, 2 WHEEL DRIVE
NITRO STADIUM TRUCK CONVERSION
FITS: TLR 22-T 4.0

1G020 Standoff

2X M3x8mm FHCS

1G007 Pipe Mount

IGT026 Transmission Brace

2x 3x8mm BHCS
1G024 Receiver Box

IGT050 Servo Spacer

"Stick" Receiver Pack (not included)

Double Sided Servo Tape (not included)

Use 4x OE TLR Kit Screws




COMPETITION LEVEL 1/10, 2 WHEEL DRIVE
NITRO STADIUM TRUCK CONVERSION
FITS: TLR 22-T 4.0

STEP 3 M3 x 6mm BHCS

M3 x 3mm set screw

IG051Brake Lever

M3 x 8mm BHCS (2)

1G052 Brake Adapter

Brake Cam Mount

5 x 11 x 2.5mm Bearing

1G040 Brake Pin

1G027 Brake Cam

1.5mm Washer (2

1G0112 Brake Bulkhead

M3 x 12mm BHCS (2)

1G053 Brake Pad (2)

Note the orientation of IG052
depending on your carburetor

style




STEP 4

COMPETITION LEVEL 1/10, 2 WHEEL DRIVE
NITRO STADIUM TRUCK CONVERSION
FITS: TLR 22-T 4.0

M3 x 8mm FHCS (4)

Brake bulkhead assembly from step 3

Install IGT025 with step
D5 of your TLR Manual

M3 x 12mm FHCS (2)

M3 x 14mm FHCS (4)

*Install tank in top

1G024-2 Receiver Box Lid

\\| M3 Flat Washers (4)

M3 x 8mm FHCS (2)

M3 x 10 BHCS (3) with flat
washers to mount tank

deck before all
Insert 1 rubber grommet

other assembly into each slot in top deck

M3 x 16mm BHCS (2)

IGT009 Top Deck _—

M3 x 8mm BHCS (2)

M3 x 10mm SHCS (4)

1G015 Motor Mount (2)

M3 countersunk
washers (4) black

M3 x 10mm FHCS (4)




COMPETITION LEVEL 1/10, 2 WHEEL DRIVE
NITRO STADIUM TRUCK CONVERSION
FITS: TLR 22-T 4.0

AX31065 32P 64T Spur Gear

1G033 Slipper Pad (2

Assemble with step C1-C11 of your
' TLR manual:

You will use TLR23066 (red washer) and TLR232027
(inner slipper plate) from your kit in this step.

1.0 Clutch Spring (3 5 x 10mm flanged

Use plastic protected pliers to hold Flywheel collet (not indluded)

Recommended: ASC 81371

flywheel while tightening clutch nut

with a 3/8’ socket.

1G018 Clutch Shoes (3)
1G017 15T Clutch Bell

as you could damage your engine! M3 x 10mm SHCS

Careful not to overtighten M3 flat washer

Saturate filter element with filter oil and blot excess with paper towel.

Secure air filter boot with zip ties on each end.

SLIDE GARB INSTALL

M3 x 3mm Set Screw (2

1G054 Air Filter Kit

1G043 Air Filter Foam

M3 x 10mm BHCS (2)

Servo horn (not included)
Recommend: Futaba FSH-6T
or similar

25mm Fuel Tube
not included]



